

ON RECIPROCAL POLYNOMIALS WITH ZEROS OF MODULUS ONE

LÁSZLÓ LOSONCZI

(communicated by Z. Daróczy)

Abstract. The purpose of this paper is to characterize reciprocal polynomials all of whose zeros are on the unit circle. Using this characterization we give bounds for the coefficients of such polynomials and show how other necessary conditions (inequalities for the coefficients) can be obtained from the characterization theorem.

1. Introduction

The aim of this paper is to characterize reciprocal polynomials all of whose zeros are on the unit circle. First, using elementary algebra, we give a factorization of reciprocal polynomials whose zeros are on the unit circle. In Section 2 we prove a Viéta–like formula for such reciprocal polynomials and give their characterization in terms of the coefficients. In Section 3 we find bounds for the coefficients of reciprocal polynomials whose zeros lie on the unit circle. In Section 4 we prove some other necessary conditions (inequalities) for the coefficients.

DEFINITION 1. A polynomial p_m of the form

$$p_m(z) = \sum_{j=0}^m a_j z^j \quad (z \in \mathbb{C})$$

where $m \in \mathbb{N}$, $a_m \neq 0$, $a_0, \dots, a_m \in \mathbb{C}$ and

$$a_j = a_{m-j} \quad (j = 0, \dots, m)$$

is called a *reciprocal polynomial* of degree m .

If p_{2n} is a reciprocal polynomial of degree $2n$ with $n \in \mathbb{N}$ then

$$p_{2n}(z) = \sum_{j=0}^{2n} a_j z^j = z^n \left[a_{2n} \left(z^n + \frac{1}{z^n} \right) + \dots + a_{n+1} \left(z + \frac{1}{z} \right) + a_n \right].$$

This shows that if β is a zero of p_{2n} then so is $\frac{1}{\beta}$.

Mathematics subject classification (2000): 30C15, 12D10, 42C05.

Key words and phrases: reciprocal polynomial, zeros, unit circle.

Research supported by Hungarian OTKA grants T 043080, T 047373.

LEMMA 1. A complex reciprocal polynomial p_{2n} of degree $2n$ has all its zeros on the unit circle if and only if there are n real numbers $\alpha_1, \dots, \alpha_n$ in the interval $[-2, 2]$ such that

$$p_{2n}(z) = a_{2n} \prod_{k=1}^n (z^2 - \alpha_k z + 1). \quad (1)$$

Proof. If β is a zero of p_{2n} on the unit circle then $\frac{1}{\beta} = \bar{\beta}$ is also a zero, hence the polynomial has a factor of the form

$$(z - \beta)(z - \bar{\beta}) = z^2 - (\beta + \bar{\beta})z + 1 = z^2 - \alpha z + 1$$

where $\alpha = \beta + \bar{\beta} = 2\operatorname{Re}(\beta)$ with Re denoting the real part of a complex number.

Clearly $|\alpha| = 2|\operatorname{Re}(\beta)| \leq 2$. Collecting all zeros of p_{2n} into pairs $\left(\beta_k, \frac{1}{\beta_k}\right)$, ($k = 1, \dots, n$) and multiplying the corresponding factors we obtain the factorization (1) where $\alpha_k = \beta_k + \bar{\beta}_k$, ($k = 1, \dots, n$).

Conversely, if (1) holds then p_{2n} is clearly a complex reciprocal polynomial with all zeros are on the unit circle.

We remark that by the help of *Chebyshev transformation* one can characterize reciprocal polynomials that have a given (even) number of zeros on the unit circle (see Lakatos [3] where a related result is proved for polynomials with real coefficients). From Lemma 1 it follows that *if all zeros of a complex monic reciprocal polynomial are on the unit circle then all of its coefficients are real.*

2. Characterization

From Lemma 1 it follows that all zeros of a monic reciprocal polynomial

$$p_{2n}(z) = \sum_{k=0}^{2n} A_{2n,k} z^k \quad (A_{2n,0} = 1, A_{2n,k} = A_{2n,2n-k} \text{ for } k = 0, 1, \dots, 2n)$$

of even degree $2n$ are on the unit circle if and only if it has the form

$$p_{2n}(z) = \prod_{k=1}^n (z^2 - \alpha_k z + 1).$$

where $\alpha_k \in [-2, 2]$ ($k = 1, 2, \dots, n$).

First we prove an identity (a Viéta-like formula for p_{2n}).

LEMMA 2. For every $n \in \mathbb{N}$ and $z, \alpha_1, \dots, \alpha_n \in \mathbb{C}$ we have the identity

$$\prod_{k=1}^n (z^2 - \alpha_k z + 1) = \sum_{k=0}^{2n} A_{2n,k} z^k \quad (2)$$

where

$$\begin{cases} A_{2n,k} = (-1)^k \sum_{l=0}^{\lfloor \frac{k}{2} \rfloor} \binom{n-k+2l}{l} \sigma_{k-2l}^{(n)} & \text{for } k = 0, 1, \dots, n \\ A_{2n,k} = A_{2n,2n-k} & \text{for } k = n+1, n+2, \dots, 2n \end{cases} \quad (3)$$

and $\sigma_k^{(n)} = \sigma_k^{(n)}(\alpha_1, \dots, \alpha_n)$ ($k = 1, \dots, n$) denotes the k th elementary symmetric polynomial of the variables $\alpha_1, \alpha_2, \dots, \alpha_n$ and $\sigma_0^{(n)} = \sigma_0^{(n)}(\alpha_1, \dots, \alpha_n) := 1$.

Proof. We prove by induction with respect to n . For $n = 1$ equation (3) reduces to

$$A_{2,0} = \binom{2}{0} \sigma_0^{(1)} = 1, \quad A_{2,1} = -\binom{1}{0} \sigma_1^{(1)} = -\alpha_1, \quad A_{2,2} = A_{2,0} = 1$$

which is obviously true.

Assume (3) to hold. Multiplying p_{2n} by $z^2 - \alpha_{n+1}z + 1$ and comparing the coefficients we get that

$$\begin{cases} A_{2n+2,0} = & & A_{2n,0}, \\ A_{2n+2,1} = & -\alpha_{n+1}A_{2n,0} & +A_{2n,1}, \\ A_{2n+2,k} = & A_{2n,k-2} & -\alpha_{n+1}A_{2n,k-1} & +A_{2n,k} \quad (k = 2, \dots, n), \\ A_{2n+2,n+1} = & A_{2n,n-1} & -\alpha_{n+1}A_{2n,n} & +A_{2n,n-1}, \end{cases} \quad (4)$$

where, by (3), on the right hand side of the last equation we have replaced the (first) term $A_{2n,n+1}$ by $A_{2n,n-1}$. Thus by the induction assumption and the recurrence equation

$$\alpha_{n+1} \sigma_k^{(n)} = \begin{cases} \sigma_{k+1}^{(n+1)} - \sigma_{k+1}^{(n)} & \text{if } k = 0, 1, \dots, n-1 \\ \sigma_{k+1}^{(n+1)} & \text{if } k = n \end{cases} \quad (5)$$

we get from (4) that

$$\begin{aligned} A_{2n+2,0} &= \binom{n}{0} \sigma_0^{(n)} = \binom{n+1}{0} \sigma_0^{(n+1)}, \\ A_{2n+2,1} &= -\alpha_{n+1} \binom{n}{0} \sigma_0^{(n)} - \binom{n-1}{0} \sigma_1^{(n)} = -\binom{n}{0} \sigma_1^{(n+1)}, \\ A_{2n+2,k} &= (-1)^{k-2} \sum_{l=0}^{\lfloor \frac{k-2}{2} \rfloor} \binom{n-k+2+2l}{l} \sigma_{k-2-2l}^{(n)} + (-1)^k \sum_{l=0}^{\lfloor \frac{k-1}{2} \rfloor} \binom{n-k+1+2l}{l} \alpha_{n+1} \sigma_{k-1-2l}^{(n)} \\ &\quad + (-1)^k \sum_{l=0}^{\lfloor \frac{k}{2} \rfloor} \binom{n-k+2l}{l} \sigma_{k-2l}^{(n)} \\ &= (-1)^k \left[\sum_{l=1}^{\lfloor \frac{k}{2} \rfloor} \binom{n-k+2l}{l-1} \sigma_{k-2l}^{(n)} + \sum_{l=0}^{\lfloor \frac{k-1}{2} \rfloor} \binom{n-k+1+2l}{l} (\sigma_{k-2l}^{(n+1)} - \sigma_{k-2l}^{(n)}) \right. \\ &\quad \left. + \sum_{l=0}^{\lfloor \frac{k}{2} \rfloor} \binom{n-k+2l}{l} \sigma_{k-2l}^{(n)} \right] \end{aligned}$$

where $k = 2, 3, \dots, n$,

$$\begin{aligned}
 A_{2n+2,n+1} &= 2(-1)^{n-1} \sum_{l=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{2l+1}{l} \sigma_{n-1-2l}^{(n)} + (-1)^{n+1} \sum_{l=0}^{\lfloor \frac{n}{2} \rfloor} \binom{2l}{l} \alpha_{n+1} \sigma_{n-2l}^{(n)} \\
 &= (-1)^{n+1} \left[\sum_{l=1}^{\lfloor \frac{n+1}{2} \rfloor} 2 \binom{2l-1}{l-1} \sigma_{n+1-2l}^{(n)} + \alpha_{n+1} \sigma_n^{(n)} + \sum_{l=1}^{\lfloor \frac{n}{2} \rfloor} \binom{2l}{l} \alpha_{n+1} \sigma_{n-2l}^{(n)} \right] \\
 &= (-1)^{n+1} \left[\sum_{l=1}^{\lfloor \frac{n+1}{2} \rfloor} \binom{2l}{l} \sigma_{n+1-2l}^{(n)} + \sigma_{n+1}^{(n+1)} + \sum_{l=1}^{\lfloor \frac{n}{2} \rfloor} \binom{2l}{l} (\sigma_{n+1-2l}^{(n+1)} - \sigma_{n+1-2l}^{(n)}) \right],
 \end{aligned}$$

where in the first sum of $A_{2n+2,k}, A_{2n+2,n+1}$ we shifted the summation index and for the latter applied the identity

$$2 \binom{2l-1}{l-1} = \binom{2l}{l} \quad (l = 1, 2, \dots).$$

Case 1: $k = 2s$ is even, $2 \leq k \leq n$.

As $\lfloor \frac{k-2}{2} \rfloor = \lfloor \frac{k-1}{2} \rfloor = s-1, \lfloor \frac{k}{2} \rfloor = s$ starting by the first term of the second sum of $A_{2n+2,k}$, we have

$$\begin{aligned}
 A_{2n+2,k} &= (-1)^k \left[\sum_{l=0}^s \binom{n+1-k+2l}{l} \sigma_{k-2l}^{(n+1)} - \binom{n+1}{s} \sigma_0^{(n+1)} \right] \\
 &+ (-1)^k \left[\sum_{l=1}^s \binom{n-k+2l}{l-1} \sigma_{k-2l}^{(n)} - \sum_{l=0}^{s-1} \binom{n-k+1+2l}{l} \sigma_{k-2l}^{(n)} + \sum_{l=0}^s \binom{n-k+2l}{l} \sigma_{k-2l}^{(n)} \right].
 \end{aligned}$$

The expression in the last bracket is

$$\begin{aligned}
 &\sum_{l=1}^s \left[\binom{n-k+2l}{l-1} - \binom{n-k+1+2l}{l} + \binom{n-k+2l}{l} \right] \sigma_{k-2l}^{(n)} \\
 &- \binom{n-k+1}{0} \sigma_k^{(n)} + \binom{n-k+1+2s}{s} \sigma_{k-2s}^{(n)} + \binom{n-k}{0} \sigma_k^{(n)} \\
 &= \binom{n+1}{s} \sigma_0^{(n)} = \binom{n+1}{s} \sigma_0^{(n+1)}
 \end{aligned}$$

as the sum of the three binomial coefficients is zero. Thus

$$A_{2n+2,k} = (-1)^k \sum_{l=0}^s \binom{n+1-k+2l}{l} \sigma_{k-2l}^{(n+1)} \tag{6}$$

proving (3) for $k = 2, 4, \dots, n$ if $n + 1$ is odd.

If $n + 1 = 2s$ is even then

$$\begin{aligned} A_{2n+2,n+1} &= (-1)^{n+1} \left[\sum_{l=1}^s \binom{2l}{l} \sigma_{n+1-2l}^{(n)} + \sigma_{n+1}^{(n+1)} + \sum_{l=1}^{s-1} \binom{2l}{l} \left(\sigma_{n+1-2l}^{(n+1)} - \sigma_{n+1-2l}^{(n)} \right) \right] \\ &= (-1)^{n+1} \left[\binom{2s}{s} \sigma_0^{(n)} + \sigma_{n+1}^{(n+1)} + \sum_{l=1}^{s-1} \binom{2l}{l} \sigma_{n+1-2l}^{(n+1)} \right] \\ &= (-1)^{n+1} \sum_{l=0}^s \binom{2l}{l} \sigma_{n+1-2l}^{(n+1)} \end{aligned}$$

completing the proof in Case 1.

Case 2: $k = 2s + 1$ is odd, $2 \leq k \leq n$.

As $\left[\frac{k-2}{2} \right] = s - 1$, $\left[\frac{k-1}{2} \right] = \left[\frac{k}{2} \right] = s$ starting by the second term of $A_{2n+2,k}$, we have

$$\begin{aligned} A_{2n+2,k} &= (-1)^k \sum_{l=0}^s \binom{n+1-k+2l}{l} \sigma_{k-2l}^{(n+1)} + (-1)^k \left[\sum_{l=1}^s \binom{n-k+2l}{l-1} \sigma_{k-2l}^{(n)} \right. \\ &\quad \left. - \sum_{l=0}^s \binom{n-k+1+2l}{l} \sigma_{k-2l}^{(n)} + \sum_{l=0}^s \binom{n-k+2l}{l} \sigma_{k-2l}^{(n)} \right]. \end{aligned}$$

The expression in the bracket is

$$\begin{aligned} \sum_{l=1}^s \left[\binom{n-k+2l}{l-1} - \binom{n-k+1+2l}{l} + \binom{n-k+2l}{l} \right] \sigma_{k-2l}^{(n)} \\ - \binom{n-k+1}{0} \sigma_k^{(n)} + \binom{n-k}{0} \sigma_k^{(n)} = 0. \end{aligned}$$

Thus (6) holds proving (3) for $k = 3, 5, \dots, n$ if $n + 1$ is even.

If $n + 1 = 2s + 1$ is odd then

$$\begin{aligned} A_{2n+2,n+1} &= (-1)^{n+1} \left[\sum_{l=1}^{s+1} \binom{2l}{l} \sigma_{n+1-2l}^{(n)} + \sigma_{n+1}^{(n+1)} + \sum_{l=1}^s \binom{2l}{l} \left(\sigma_{n+1-2l}^{(n+1)} - \sigma_{n+1-2l}^{(n)} \right) \right] \\ &= (-1)^{n+1} \left[\binom{2s+2}{s+1} \sigma_0^{(n)} + \sigma_{n+1}^{(n+1)} + \sum_{l=1}^s \binom{2l}{l} \sigma_{n+1-2l}^{(n+1)} \right] \\ &= (-1)^{n+1} \sum_{l=0}^{s+1} \binom{2l}{l} \sigma_{n+1-2l}^{(n+1)} \end{aligned}$$

completing the proof in Case 2.

THEOREM 1. (Characterization Theorem) *A complex monic reciprocal polynomial*

$$p_{2n}(z) = \sum_{k=0}^{2n} A_{2n,k} z^k \quad (A_{2n,k} \in \mathbb{C}, A_{2n,0} = 1, A_{2n,k} = A_{2n,2n-k} \text{ for } k = 0, 1, \dots, 2n)$$

of even degree $2n$ ($n \in \mathbb{N}$) has all of its zeros on the unit circle if and only if there exist real numbers $\alpha_k \in [-2, 2]$ ($k = 1, \dots, n$) such that

$$\begin{cases} A_{2n,k} = (-1)^k \sum_{l=0}^{\lfloor \frac{k}{2} \rfloor} \binom{n-k+2l}{l} \sigma_{k-2l}^{(n)}(\alpha_1, \dots, \alpha_n) & \text{for } k = 0, 1, \dots, n \\ A_{2n,k} = A_{2n,2n-k} & \text{for } k = n + 1, n + 2, \dots, 2n \end{cases} \quad (7)$$

holds.

A complex monic reciprocal polynomial $p_{2n+1}(z)$ of odd degree $2n + 1$ ($n \in \mathbb{N}$) has all of its zeros on the unit circle if and only if $p_{2n+1}(z) = (z + 1)p_{2n}(z)$ where for the coefficients of p_{2n} (7) holds.

Proof. For even degree polynomials this follows from Lemmas 1, 2. For odd degree polynomials $z = -1$ is always a zero thus we have $p_{2n+1}(z) = (z + 1)p_{2n}(z)$ where $p_{2n}(z)$ is also reciprocal, thus the first part of the statement applies.

3. Coefficient estimate

Using the Characterization Theorem we can obtain bounds for the coefficients of a reciprocal polynomial whose zeros are on the unit circle.

THEOREM 2. (Coefficient estimate) *If all zeros of the complex monic reciprocal polynomial*

$$p_{2n}(z) = \sum_{k=0}^{2n} A_{2n,k} z^k \quad (A_{2n,k} \in \mathbb{C}, A_{2n,0} = 1, A_{2n,k} = A_{2n,2n-k} \text{ for } k = 0, 1, \dots, 2n$$

of even degree $2n$ ($n \in \mathbb{N}$) are on the unit circle, but there are no zeros of p_{2n} in the arcs

$$\{ e^{iu} : -\beta \leq u \leq \beta \} \text{ and } \{ e^{iu} : \pi - \beta \leq u \leq \pi + \beta \}$$

where $0 \leq \beta \leq \frac{\pi}{2}$ then

$$|A_{2n,k}| = |A_{2n,2n-k}| \leq \sum_{l=0}^{\lfloor \frac{k}{2} \rfloor} \binom{n-k+2l}{l} \binom{n}{k-2l} (2 \cos \beta)^{k-2l} \quad (k = 0, 1, \dots, n). \quad (8)$$

Proof. We have $|\alpha_k| \leq 2 \cos \beta$ hence using the characterization theorem and the estimate

$$|\sigma_k^{(n)}(\alpha_1, \dots, \alpha_n)| \leq \binom{n}{k} (2 \cos \beta)^k$$

we get

$$|A_{2n,k}| \leq \sum_{l=0}^{\lfloor \frac{k}{2} \rfloor} \binom{n-k+2l}{l} |\sigma_{k-2l}^{(n)}(\alpha_1, \dots, \alpha_n)| \leq \sum_{l=0}^{\lfloor \frac{k}{2} \rfloor} \binom{n-k+2l}{l} \binom{n}{k-2l} (2 \cos \beta)^{k-2l}$$

for $k = 0, 1, \dots, n$ proving (8).

REMARK. A $\beta > 0$ (with the property in Theorem 2) exists if ± 1 is not a zero of p_{2n} . In the case when $\beta = 0$ (8) goes over into

$$|A_{2n,k}| = |A_{2n,2n-k}| \leq \binom{2n}{k} \quad (k = 0, 1, \dots, n) \tag{9}$$

as applying the binomial theorem, expanding $1 + 2x + x^2$ by the polynomial theorem, rearranging the sum according to the powers of x and comparing the coefficients of x^k in

$$\begin{aligned} \sum_{k=0}^{2n} \binom{2n}{k} x^k &= (1+x)^{2n} = (1+2x+x^2)^n = \sum_{s,l \geq 0, s+l \leq n} \frac{2^s x^{s+2l} n!}{s! l! (n-s-l)!} \\ &= \sum_{k=0}^{2n} \left(\sum_{l=0}^{\lfloor \frac{k}{2} \rfloor} \frac{2^{k-2l} n!}{(k-2l)! l! (n-k+l)!} \right) x^k = \sum_{k=0}^{2n} \left(\sum_{l=0}^{\lfloor \frac{k}{2} \rfloor} \binom{n-k+2l}{l} \binom{n}{k-2l} 2^{k-2l} \right) x^k \end{aligned}$$

we conclude that

$$\sum_{l=0}^{\lfloor \frac{k}{2} \rfloor} \binom{n-k+2l}{l} \binom{n}{k-2l} 2^{k-2l} = \binom{2n}{k}.$$

The estimate (9) also *obviously follows* from the usual Viéta formulae.

Cartwright and Steiger [1], Corollary 1.1 found sharp constraints for the coefficients of an arbitrary complex monic polynomial all of whose zeros are of the same modulus. Their result however does not seem to be easily specialized for our case.

4. Further necessary conditions

In the sequel we show how further necessary conditions can be obtained by the help of our characterization theorem. Let $n \in \mathbb{N}$ be fixed and

$$S_k(\alpha_1, \dots, \alpha_n) = \sum_{j=1}^n \alpha_j^k \quad (k \in \mathbb{N}).$$

S_k being a symmetric polynomial of the α_j 's can be expressed by help of the elementary symmetric polynomials $\sigma_1, \dots, \sigma_n$ (where, for the sake of simplicity we omitted the upper subscript $^{(n)}$ from the σ_k 's) according to the equations (see [8], p. 232)

$$\begin{aligned} S_1 - \sigma_1 &= 0 \\ S_2 - \sigma_1 S_1 + 2\sigma_2 &= 0 \\ S_3 - \sigma_1 S_2 + \sigma_2 S_1 - 3\sigma_3 &= 0 \\ &\vdots \\ S_{n-1} - \sigma_1 S_{n-2} + \dots + (-1)^{n-2} \sigma_{n-2} S_1 + (-1)^{n-1} (n-1) \sigma_{n-1} &= 0. \end{aligned}$$

Therefore

$$\begin{aligned}\sigma_1 &= S_1 \\ \sigma_2 &= 1/2 (S_1^2 - S_2) \\ \sigma_3 &= 1/6 (S_1^3 - 3S_1S_2 + 2S_3) \\ \sigma_4 &= 1/24 (S_1^4 - 6S_1^2S_2 + 8S_1S_3 + 3S_2^2 - 6S_4) \\ \sigma_5 &= 1/120 (S_1^5 - 10S_1^3S_2 + 20S_1^2S_3 + 15S_1S_2^2 - 30S_1S_4 - 20S_2S_3 + 24S_5) \dots\end{aligned}$$

From (7)

$$\begin{aligned}A_{2n,0} &= \sigma_0 & A_{2n,3} &= -[\sigma_3 + \binom{n-1}{1}\sigma_1] \\ A_{2n,1} &= -\sigma_1 & A_{2n,4} &= \sigma_4 + \binom{n-2}{1}\sigma_2 + \binom{n}{2}\sigma_0 \\ A_{2n,2} &= \sigma_2 + \binom{n}{1}\sigma_0 & A_{2n,5} &= -[\sigma_5 + \binom{n-3}{1}\sigma_3 + \binom{n-1}{2}\sigma_1] \dots\end{aligned}$$

which shows that σ_k 's can be obtained as linear combinations of the coefficients $A_{2n,k}$.

We can obtain further necessary conditions in the following ways.

1. *Using well-known inequalities for the σ_k 's.*

Newton's inequality (see Mitrinović [6] p. 95) states that for $k = 1, 2, \dots, n-1$

$$E_k^2 \geq E_{k-1}E_{k+1} \quad (10)$$

with equality if and only if $\alpha_1 = \dots = \alpha_n$, where

$$E_k = E_k(\alpha_1, \dots, \alpha_n) = \frac{\sigma_k(\alpha_1, \dots, \alpha_n)}{\binom{n}{k}}.$$

Maclaurin's theorem (see [6] p. 97) reads as follows. For $1 < k < l < n$ we have

$$E_l^{1/l} \leq E_k^{1/k} \quad (11)$$

with equality if and only if $\alpha_1 = \dots = \alpha_n$.

Several other inequalities can be found for the E_k 's in the paper of Niculescu [7] and in the references there.

2. *Using the estimate $|\sigma_k^{(n)}(\alpha_1, \dots, \alpha_n)| \leq \binom{n}{k}2^k$ or (under the conditions of Theorem 2) the inequality $|\sigma_k^{(n)}(\alpha_1, \dots, \alpha_n)| \leq \binom{n}{k}(2 \cos \beta)^k$.*

3. *We can also use the inequalities*

$$\begin{aligned}-2^k n &\leq S_k \leq 2^k n & \text{if } k \text{ is odd,} \\ 0 &\leq S_k \leq 2^k n & \text{if } k \text{ is even}\end{aligned} \quad (12)$$

and, by this, we can estimate σ_k and also $A_{2n,k}$.

We show examples for the above methods.

THEOREM 3. *If all zeros of the complex monic reciprocal polynomial*

$$p_{2n}(z) = \sum_{k=0}^{2n} A_{2n,k} z^k \quad (A_{2n,k} \in \mathbb{C}, A_{2n,0} = 1, A_{2n,k} = A_{2n,2n-k} \text{ for } k = 0, 1, \dots, 2n$$

of degree $2n$ ($n \in \mathbb{N}$) are on the unit circle then $A_{2n,k}$ ($k = 0, 1, \dots, 2n$) are real and

$$\left(\frac{A_{2n,2-n}}{\binom{n}{2}} \right)^2 \geq \frac{A_{2n,1} (A_{2n,3} - (n-1)A_{2n,1})}{\binom{n}{1} \binom{n}{3}}, \tag{13}$$

$$\left(\frac{-A_{2n,3} + (n-1)A_{2n,1}}{\binom{n}{3}} \right)^{1/3} \leq \left(\frac{A_{2n,2-n}}{\binom{n}{2}} \right)^{1/2}, \tag{14}$$

$$-\binom{n}{3} 2^3 \leq -A_{2n,3} + (n-1)A_{2n,1} \leq \binom{n}{3} 2^3, \tag{15}$$

$$-n \leq A_{2n,2}. \tag{16}$$

In (13) and (14) we have equality if and only if $p_{2n}(z) = (z^2 - \alpha z + 1)^n$ with $\alpha \in [-2, 2]$.

In (15) we have equality on the left if $p_{2n}(z) = (z + 1)^{2n}$ and on the right if $p_{2n}(z) = (z - 1)^{2n}$.

In (16) we have equality if and only if n is even and $p_{2n}(z) = (z^2 - 1)^n$.

Proof. We have

$$\sigma_1 = -A_{2n,1}, \quad \sigma_2 = A_{2n,2} - n, \quad \sigma_3 = -A_{2n,3} + (n-1)A_{2n,1} \tag{17}$$

hence by the inequality (10) for $k = 2$, and by (11) for $k = 2, l = 3$ we get (13), (14) respectively. Equality holds in these if and only if $\alpha_1 = \dots = \alpha_n = \alpha \in [-2, 2]$ which gives the extremal polynomial $(z^2 - \alpha z + 1)^n$.

To prove (15) use (9) for $k = 3$, apply the last equation of (17) and the second proposed method. Equality holds on the left side if $\alpha_1 = \dots = \alpha_n = -2$ and on the right side if $\alpha_1 = \dots = \alpha_n = 2$.

Finally by (12) $0 \leq S_1^2 \leq 4n^2, 0 \leq S_2 \leq 4n$ hence

$$-2n \leq \sigma_2 = 1/2 (S_1^2 - S_2) \text{ or by (17) } -2n \leq A_{2n,2} - n$$

proving (16). Equality holds if and only if $S_1 = \sum_{k=1}^n \alpha_k = 0, S_2 = \sum_{k=1}^n \alpha_k^2 = 4n$ i.e. if and only if $n = 2m$ is even and half of the α_k 's equals 2, the other half equal -2 , which gives the extremal polynomial $p_{2n}(z) = (z^2 - 2z + 1)^m (z^2 + 2z + 1)^m = (z^2 - 1)^{2m} = (z^2 - 1)^n$. We remark that for odd n the coefficient of z^{n-2} of p_{2n} is also $-n$ but p_{2n} is not reciprocal.

We remark that there are several *sufficient conditions* (see Lakatos [2], [3], Schinzel [9], Lakatos and Losoncz [4], [5]) for the coefficients of reciprocal and self-inversive polynomials to have all their zeros on the unit circle.

REFERENCES

- [1] D. I. CARTWRIGHT, T. STEGER, *Elementary symmetric polynomials in numbers of modulus 1*, *Canad. J. Math.* **54** (2002), 239–262.
- [2] P. LAKATOS, *On polynomials having zeros on the unit circle*, *C. R. Math. Acad. Sci. Soc. R. Can.* **24**, (2), (2002), 91–96.
- [3] P. LAKATOS, *On zeros of reciprocal polynomials*, *Publ. Math. Debrecen* **61**, (2002), 645–661.
- [4] P. LAKATOS, L. LOSONCZI, *Self-inversive polynomials whose zeros are on the unit circle*, *Publ. Math. Debrecen* **65**, (2004), 409–420.
- [5] P. LAKATOS, L. LOSONCZI, *On zeros of reciprocal polynomials of odd degree*, *J. Inequal. Pure Appl. Math.* **4** (3) (2003) Article 60, 8 pp. (electronic, <http://jipam.vu.edu.au>).
- [6] D. S. MITRINVIĆ, *Analytic inequalities*, Springer Verlag, Berlin–Heidelberg–New York, 1970.
- [7] C. P. NICULESCU, *Interpolating Newton's inequalities*, *Bull. Math. Soc. Sc. Math. Roumanie* **47**, (95) (2004), 67–83.
- [8] T. SZELE, *Introduction to Algebra*. (in Hungarian) Tankönyvkiadó, Budapest 1955.
- [9] A. SCHINZEL, *Self-inversive polynomials with all zeros on the unit circle*, *Ramanujan Journal*, **9**, (2005), 19–23.

(Received March 8, 2005)

*Institute of Mathematics
Debrecen University
4010 Debrecen
pf.12, Hungary
e-mail: losi@math.klte.hu*